DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE
End Semester Examination — Winter 2018 |

Course: B. Tech in Computer Engineering Sem: III

Subject Name: Data Structures Subject’ ':e. BTCOC303

Max Marks: 60 " Date: 5/12/2018 Duratlon 3”Hrs

Instructions to the Students:
1. Solve ALL questions. e S
2. The level question/expected answer as per OBE' o r the Course Outcome (C 0) on
which the question is based is mentioned in_front of the questlon S
3. Use of non-programmable scientific calculators-is-allowed.
4. Assume suitable data wherever necessary and mention it clearly.

(Level/CO)  Marks
Q.1 Solve Any Three of the following. Fx :
A) Whatis data structure‘7 Why to study data structure‘? Enh

_tha 'fiva:iatea:s.;d’f 2 Understand 4

B) What is garbage collection? Who w111 run garbage colléctlon program? When 1t Understand 4
will be run? ‘ ; '

0) Suppose multidimensiona‘ Apply 4

array A and B

D) Whatis prtmltlve\“‘data structure" Enllst the dtfferences between prlmltlve and Understand 4
non-prlmltlve data structures

Q.2 Solve Any Two of the followmg

Apply 6
rlthmto find the number of times a given ~ Creating 6
Creating 6
€cl 1on ort‘? Sort the number following numbers in ascendmg order Analyzing 6
S v anda show the worst case time complexity of selection sort is O ().
B ~B)- )“Con der the. stack of size 6 memory cells. Suppose initially stack Evaluating 6

] tams a, b, c, d, e (Top of stack). Then the following operations are executed
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O

Q4

A)

B)

C)

Q.5

A)

-B)

in order. Show the stack top and any other situation raised while doing each of S

the operation.

i) Push(f) if) Pop(top) iil) Push(g) iv) Push(h) v) Pop(top) vi) Push() L

Explain how to implement two stacks in one array A[1 .. NJin such
heither stack overflow unless the total number of elements in both th
together is N. Note that, Push() and Pop() operations should b no
time. o

Solve Any Two of the following.

What are the different types of the linked list? Give ad ‘n‘g“""{e“s‘ nd
disadvantages each of the linked list over anothgrl :

Assume, the following letters are inserted into an emﬁty‘:b'jn_ar_yrs\_eafbh‘}tféé in

given order. J, B, D, F, N, K, O. Construct binary search tree and also give ¢ |

height of the tree.

What is threaded binary trees? Give the threaded binary tree of the
binary tree. e T

Solve the 'fblib&iﬁ‘”g‘ T

What is graph? Find the shortest path using Dijkstra algorithm. Assume starting  Evaluating

node 1s O.

Explain the in brief the following
) red black trec. ii) m-way search tree iii) b tree iv) b+ tree
v) sparse matrix _vi) AVL tree.

% % Xk End Ak
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Understand



